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General Instructions—

(i) This question paper consists of 39 questions. All questions are compulsory.

(i1) This question paper is divided into five sections- A, B, C, D and E.

(iii) Section A - Question Nos. 1 to 20 are Multiple Choice Questions. Each question
carries | mark.

(iv) Section B - Question Nos. 21 to 26 are Very Short Answer (VSA) type questions.
Each question carries 2 marks.

(v) Section C - Question Nos. 27 to 33 are Short Answer (SA) type questions. Each

question carries 3 marks.
(vi) Section D - Question Nos. 34 to 36 are Long Answer (LA) type questions. Each

question carries 5 marks.
(vii) Section E - Question Nos. 37 to 39 are source based /‘case based units of

assessment carrying 4 marks.
(viii) There is no overall choice. However, an mtemal choice has been provMin

some sections.
| SECI'ION-A

_/ Anaqueoussoluuonofasaltshawsanorangcredcolourwhmg f
mmxsaddedtoxt, 'Ilussalusmadcupof | ‘




e N+ cj,(s) H(2)

00 2 1) I
21,0007 2 aq) + Cla) + H(0)

ﬂﬂn:: INaOH(aqg) + CL(®) * Hi2)
‘ffu <how displacement reaction is/are

® (i) and (iii)
@ () and (ii)

gumes of nitric oxide
the following statements about the reaction given below are cOmrec!

c1—> MnCL"‘ 2H,0+Cl,
+m (u) Mno is reducedtoMnClz

(iv) HCl acts as an oxidising agent
(b) (i), (ii) and (iii)

3 - (d) (iii)and (iv) only

b mmusly with water to produce slaked lime-

df

13] b
(a) (A)and(§) (b) (C)and (D)
(¢) (A).(C)and (D) (d) (A)and (D)

.~ Name the circulatory flyid ; 10 the human body other than blood—

XMG 439

(a) Platelets (b) RBC
() Lymph (d) Plasma
8._~Any Chﬂﬂgemcn\nmnmcm tow |
thich an organism : 7
(c) Response -

(d) Hormone
9. Whichnerves transmits impulses from the central

nery
e Ous system towards muscles

LY
(a) Sensory nerves (b) Motor nerves

(c) Relay nerves (d) Craniaj nerves
_10.~Breathing is controlled by which part of the brain, 2

(@) Cerebrum (b) Cerebellym

(¢) Hypothalamus (d) Medulla oblongaty
11, The longest fibre on the cell body of a neuron is called -

(a) sheath (®) cytoplasm

(c) axon

(d) dendrites

U2~ Principal C & 1 g
Axis 3
' P 4

While looking at the above diagram Nalini concluded ﬂm—-
(i) Image of the object will be virtual.

(ii) The reflected ray will travel along thesamplﬁ!ﬁ
direction.
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[ e
e in . alive.
m,,,ormc.,bjmv:;ﬁ pence focal length will be neg 1'5:] Sei. X/MG.430
. 2 m L .

'm‘m“ﬂnﬂ"‘ et s are correct? (¢) A_"q true but R is fa)ge

(iv) The g g b (i) and (i) (d) Aisfalse but R is trye,

Wot'ﬂ'f“"w (b) (1 b o |7 Assertion (A) : Silver bromide d b5 .

() iy and (i1 i) (d) Allofthe - i ccompasition 18 used in black and white

o) 0D o= flight entes from aif into glass and bends towards the n0M ; R a

ofli eason s L : .
e sy ol 118 i . (R) : Light provides encrgy for this exothermic regetion
ST hich of the following mm 18, -Assertion (A) : Molecular movements are needed fp,p life
: and plass 15 g Reason (R) : Body « '
w Mhmm g PO lbl“ '.hat 0fg|a$5 i ( & yf;trucwrcs rﬂﬂdc u'p orlhcse m‘r”CCules ,‘]ced commu
W index of air is more . and maintainence, OUSs repair
g density of glass is more than air. A9,~Assertion (A) : A receptor is 3 spec li
© came optical density v _ a specia ised group o cells i & sense organ thy
4 foth air and glass have irror is +2. What is th ftt PEfceve a particular type of stimylys, 3 e
o goation produced by a concave mi . € nature ol th Reason (R) : Different sense organs have digy

amage formed ? stimuli crent receptors for detecting

. rtual . xS
' ; » mm diminished (b) Vi erect, diminished

durin dav 1;
Reason (R) : White light is composed of s .

2m. The type of lens needed in the spectac. €Ven coloyrg.

| fir point of eye of the person is SECTION-B
+o increase the fr point t infinity s : 2J- (a) How does the flow of acid rain into the river K 2x6=12
| (b) Convexlens life difficult ? X5 the survival of squatie
G 1 o (d) Cylindrical lens (b) Arrange the following in an increasin

8 order of their PH values :‘

NaOH solution, Gastric juice, Lemon jujce Blood, Lactic acid
y iy CliC aci

OR

Wo{misdmm:
: ‘  w moﬂightbywaterdmplcts

% (b Refraction of light by different layers of different optical density
(o) Scatteringoflight by dust particles

(@ Intemal rflecion of light by clouds
”—"?i'eij‘_',g. b dd: :

Give reasons

(a) Dry HCI gas does not chan

ge the coloyr
(b) Antacids are used to treat X

% dry litmus paper.
ndigestion e

0.17t0 Q.20 consits of two statements Assertion (A) and Reason (R). Ansy,
questions selecting the appropriate option given below—
a1 Rath A ar d R are true and R is the correct explanation of A,




' and Iabel th(.‘

I
ﬁaiﬁ:n of light through glass prstt
(b) Angleofdeviation

’ ot 7 )
- dispersion of light hrough glass prism-

! i ;on of light : :
() Drawa diagram 10 ShoW dxsd e olfactory receptor in human beings-
an

OR

tedzdﬁ-omiﬂj“ﬁ;d -
S'_E—/watcr molecules and forms Y. Y |
fractured bones in the right positic

suppol'ﬁng
(1) 1dentify X and Y. equation.

(ii) Supportyour ansWerve "
obtain X from Y 7 Give

reason for your ansWer-

(iii) Can we : 1ded to a solution of lead (D) Nitrate i

:)‘ m:mbalmd‘mci;uzedcquaﬁon for this reaction.
(ii) Name the precipate formed and its colouI_- o
(iﬁ)m:ypeofmaion can this be categorised into *
OR
Write one oquation each for the decomposi
s i form of heat, light and electricity each.
Wcmmsisorbr&agas ‘A" is liberated at anode. When gas A is px
‘ Mw‘iﬂ?ﬂvamamdmsfmmedwhichismedfordisinf&
{ (i) Identify A and ‘B’.

tion reactions where energy 1s sup

et

l 7 l Sei. Xj\"rut'),”
(i1) Write a balanced equation for the formation of B from A.
(iii) What is the common name for the compound ‘B’ ? Also write its chemical
name.

30« A student wants to project the image of an object on the screen.
(l) Which type Oflens ShOUId be use 7 Csncere '

(ii) Atwhat distance in terms of focal length of lens should be place the object
so as to get.
(a) Magnified image
(b) Diminished image
Draw the ray diagram to show the formati g :

Ma) Draw the ray diagram to show refracliont::i;;:fzzii nidED s

AL S e air_ is 3x10* m/sec ang that in medi i 8

m/sec. What will be the refractive index of i Amc iumAis 1.5x10
OR

(a) Draw the ray diagram to show the image form - _

object is placed between F and C. concave mirror when

gh glass slab.

(b) The magnification of spheri i 1
pherical mirror is +0.5. What ;
-J. What is th mirror
nature of image formed ? it - "
<2-"(a) Explain with diagram the process of formation of rainbow i
(b) Why danger signals are red in colour ? o s

J‘VExplam the following terms and its impact
(a) Food Web -
ok (b) Ozone depletion
(¢) Biological magnification, :

OR s _
a) In i . 2 '
i o e f“""""“‘? food chain, plants provide 500 J of energy t© Fais. How
much energy will be available to hawks . R s
Pmm—;Rm_)Snakes_) ksflnulm ?




, I : Justhins 107 dincarding off houie |

e .
jrable 10 have 1 -H-_. another for non- Zcmnﬁ!_-w-u. gy g 91 Sel. X, A
. y i ¥
e iﬁtﬂ‘-\.ﬂ.ﬁ: wiy of disposs] of these Wastes: (€) An object is placed ot § distance of W0 €m from a convex mirroy o | .
waste, i P* ) S»y _ length 15 om. ¥ ind the POm ity i!&? nage.
in var, 4
o baking soda are the two commonly used salts o &
yo uehine o e En iy Giagram 10 show image formation TR SONCAVE mirror whes
o chemical name and formula of both the salts. :w._u.._ e u_wc& oo of shartucy
n) Wnte the by afesch (b) Concave mirrors are used in solar furnances Why 7
R e i heated 7 Give the balanced chen, (€) An object 10 cin ilsize is placed a1 a distan . of 100 e
happens when baking soda is b ! Ko 3 . ) em from a Ay
i) What mirror. 11 ity Image is formed at the same PUInNt wier the .
i . < i . in W ¢ 3. ..ﬂ -» a2
exquation = Caleulate the foeal lengih of the mirror and N wﬁ.‘ " placed
How do acids and b SECTIONF. om0l he image foxmed.
v Tive two examples. How do acids and ba ! .
{a) What are olfactory indicators ? Give tW .N...\c:_..:m a chemical reaction, atoms of one elen s
behave with olfactory En,gsa.w Mo, | ¥ other element nor do atoms disapoe: _ ' do not change imo those of
(b) You are provided with two solutions A and B. A 1s acidic while B is ba " breaking and : S JNERually chemical reacti :
g ; { solution A and Blith due 2 Bed S\, & and making bonds between ALOMS 10 procy,,, el
State the change in the colour of 50 . chemical reactions heat & 1€ new substances. In
followi arts lons heat is produced alc with - In some
35,71a) Draw the cross section of the leaf and label the following parts— : : S With the lormation of
; : | dle. Xvlem. Phi in some chemical reaction heat is absorbed f; products. Howeves
Upper Epidermis, Chioroplast, Vascular bundie, Aylem, Fhloem (a) What is : : Tom the Surroundings
b) Write the chemical equation involved in photosynthesis. with ”s exothermie reaction ? Give an €Xample of exothermic :
(¢) How is unused cnergy stored in plants ? (b) What .r ¢lp of balanced equation. e
" : at1s an endothermic reaction ? Give -
{d) What is site for photosynthesis ? L * Ve an exy, {
- with the help of balanced equation nple of endothermic reaction
: c is respirati : ,
(a) Draw adiagram to show r:..mﬁ. Alimentary canal and label on it the follgw, i EM.M_ s respiration considered as an exoth
4 : a i i
gall bladder, stomach. hum the longest part of Alimentary canal. anced chemical equation.

(b) Why is it necessary 1o separate oxygenated and deoxygenated bloo |

OR,

, mammals and birds ? (¢) Which law supports the statement t,

_. Draw the ray di " reaction ? .

| o el o g e mage ormed by convex it when o ., 38, The _EE..@HME .

) it R §<nnm..bw lens system =

(b) A convex mirror is used as a rear view mirror in vehj omEnB.sabEnogoRSnian g?ﬂgsﬂ
icles. Why 2 ftom defects of by the lens is not clear than the

- vision. In thesc n&aaﬁ&ag
0 ormed on the screen of the s




